Technical Description

Tool changer TC250

MO0634-1

Tool changers | Swivels | Swivel tool changers | Grippers | Hose packages | Valve units | Tool systems

/ products






The information in this document is subject to change without prior notice and should not be
regarded as an undertaking from Robot System Products AB. Robot System Products AB
assumes no responsibility for errors that may occur in this document.

Robot System Products AB bears no responsibility for damage that is incurred by the use of this
document, or the software or hardware described in this document.

The document, or parts of it, may not be reproduced or copied without prior permission from
Robot System Products AB. It may neither be imparted to a third party, nor otherwise be used
without authorization. Infringement hereof will be subject to action in accordance with the
applicable laws.

Further copies of this document can be obtained from Robot System Products AB at
current prices.

© Robot System Products AB

Robot Systems Products AB
Isolatorvagen 4

SE-721 37 Vasteras
Sweden



CONTENTS

1 INTRODUCGTION ...ttt e e e e e e e e e e s e e et e e eanneees 5
I S o (oo o o =T T [T SR 6
1.2 DOCUMEIES ...ttt oottt e e e e ettt et e e e e e e e et e e ettt e e e e e e e eeenbbaaaeeeaaas 6
RGNV T T g oI T £ SO UPPPPTRPPN 6
1.4 Complementary EQUIDIMENT .......uu it e e e e e e e e e 6

2 TECHNICAL SPECIFICATIONS . ..ot eaas 7
2.1 Description of tool changers and tool attaChments .................evvviiiiiiiiiiiiiiiiis 7

2.1.1 Coordinate System Definition ...........cooiiiiiiiiiii e 8
2.1.2 Tool changer TC250-8. ArtiCle NO: PBALL........ccooiiiiiiiiiiiiee ittt 9
2.1.3 Tool Attachment TA250-8. ArtiCle NO: PBALT .....ccveeiiiiiiiieei et 10
2.1.4 Square tool attachment TA250-8. Article N0: PBATA.........coooiiiiiiiiiiiiiiiee e 11
2.1.5 Tool changer TC250-8E. ArtiCle: PBAL2 ... 12
2.1.6 Tool Attachment TA250-8E. Article N0: PBALS .......coooiiiiiiiieeiiiiie e 13
2.1.7 Tool Attachment TA250-8E. Article N0: PBA3L ......cooiiiiiiiieieei it 14
2.1.8 Square tool attachment TA250-8E. Article N0: PBA73 .......ccccooieieiieiceeeeceeecc 15
2.1.9 Pneumatic diagram for TC250 ......ccccoeiiiiiiiiiciie e 16
2.1.10 Circuit diagram EO0L196-001 fOr PBAL2 ... 17
2.1.11 Circuit diagram E0196-002 fOr PBALS........coiiiiieiieieeiccice s 18
2.1.12 Circuit diagram E0196-009 for P6431 and PBA73 .........coeiiiiiiiiiiiiieee e 19
2.2 OPtioNS TOr OO CHANGET ... .eiiiiiiiiiiiiiieeiee bbb neenennnenne 20
2.2.1 RODOt @daPation KilS.........cciiuiiiiiiiiiee ittt e e sbneeeeanes 20
A o Lo I Lo U= o1 ) o> 1o o PO RRUR 20
2.2.3 Limitation of RODOt MOVEMENTS........uuiiiiiiiiiiiiiiie e e e e e e e e s nneees 20
2.2.4 Tool stand Kit. ArtiCle NO: PBAT2.......ueeiiie ettt e e e e e e e e e e nnnenes 21

S S P A RE PA R T S e 22

3.1 Part list for tool changer P6411 and PB4L12 ...........cccoiieiiiiiiiiiiiiie e eeanns 22



1 INTRODUCTION

Robot System Products is a front-rank provider of peripheral products for high performance
robot applications. We provide complete system solutions for your robot installations, aiming to
improve your productivity with the most reliable and cost-effective tooling on the market.
Continuously we explore emerging technologies, working with leading edge design.

Robot System Products has a wide range of standard robot peripheral products:

Tool changers
Swivels

Swivel tool changers
CiRo

Grippers

Hose Packages
Valve units

Tool systems

Tool parking systems

Robot System Products’ tool changers are constructed to maximize the flexibility and reliability
of your robot fleet. Through our patented locking device TrueConnect™ robustness and high
safety are combined with low weight and compactness. With our swivels compressed air, water,
electrical and data signals as well as weld and servo power are transferred to your tools with
robot motion capabilities fully maintained. Our swivel tool changers unite the TrueConnect™
mechanism with our swivel technology, combining the best out of the two technologies. With
RSP’s cost-effective CiRo, cables and hoses can be freely selected with high robot flexibility
maintained, and space requirements reduced. Our integrated tool systems are delivered as
complete plug-and-play solutions designed for quick and simple installation.

Robot System Products’ product lines are available for all major robot brands and come with
complete documentation. 3D-models for simulation are available for download at:
WWW.rsp.eu.com.

MO0634-1 version 3.3 5


http://www.rsp.eu.com/

1.1 RSP tool changer

The Robot System Products’ tool changers enable robots to handle and switch between multiple
tools. They are built to ensure reliable and smooth operation, being compact with low weight and
robust design and incorporating many safety features. Depending on model and options,
electrical signals, weld and servo power, data, water and compressed air are transferred from
the robot side to the tool.

The patented locking device TrueConnect™ has a minimum of play and gives a practically,
through the lifespan, absolute positioning repeatability. The principle behind the locking
mechanism is the uniform distribution of load obtained by pressing locking balls into spherical
grooves. In consequence, substantially larger positional tolerances are accepted during docking.

1.2 Documents

This Technical Description contains product information and data, drawings, circuit and
pneumatic diagrams and lists of spare parts. In the document Installation and Maintenance
(M0416-1) procedures for mounting, installation and replacement of equipment are described
together with descriptions of inspection, cleaning and lubrication activities including
recommended maintenance intervals.

1.3 Wear parts

Wear parts should be replaced before considerable damage occurs. The interval depends on the
number of tool changes and its working environment. Generally, the more contaminated
environment, the closer maintenance intervals.

The following parts are considered as wear parts:

o Signal pins
o Air sealings
o  O-rings

1.4 Complementary Equipment

Complementary equipment is described in separate documents.

Article Note

External valve units Mounted at the rear of the upper arm. Shuts off the air
automatically during tool changing.

Cable and hose package Complete packages for most robots on the market ready to be
mounted without any modifications.

Tool parking systems RSP tool parking systems give rigid installations for easy tool
changing.

Connection kits Connection kits for tool changers and tool attachments
simplifying electrical installations.

3D-models Available in Solid Works®, STEP, X=T and IGES-format.

6 M0634-1 version 3.3



2 TECHNICAL SPECIFICATIONS

2.1 Description of tool changers and tool attachments

This document presents the Robot System Products TC250-8 and TC250-8E tool changers
including tool attachments dedicated for material handling. Likewise presented are adaptation
kits, connection kits to facilitate electrical installation and a tool stand kit.

The tool changer TC250-8 transfers compressed air to the tool. It can be equipped with transfer
of electrical signals, via spring loaded signal pins, to the tool attachment. The electrical version is
designated 'E’. The tool changers TC250-8 and TC250-8E cannot transport fluids.

The spring-loaded signal pins of TC250-8E are placed and protected at the centre of the tool
changer. The contact surface of the tool attachment and the signal pins are not in connection
until at the very end of the docking cycle when the tool attachment is already properly aligned.
This guarantees a minimum of wear of the contact surfaces.

The electrical unit is primarily intended for transfer of sensor signals from grippers. In addition, it
can be used for checking the presence and identifying tools by using signal jumpers and binary
coding of signals on the tool attachment.

For other bolt circles adaptation plates between the tool changer and the turning disc on the
robot may be needed. Such adaptation plates are available from RSP.

TC250-8E

MO0634-1 version 3.3 7



2.1.1 Coordinate System Definition

A tool changer adds load to the robot. If the arm and tool loads are not stated correctly during
programming the behaviour of the robot and the wear of the equipment will be affected.
Information about weight and centre of gravity can, in accordance with the co-ordinate system
stated below, be found in the technical specification tables of the tool changer.

NOTE! For the tool changer and tool changer with tool attachment, the origo of
the co-ordinate system is situated in the centre of the robot mounting flange.

8 M0634-1 version 3.3



2.1.2 Tool changer TC250-8. Article no: P6411

D10 mé

LN
o o o ®()
o
e |
o o o O
+(O)
[ N
i " ©®
2] = =
= 8
S ] Lo '©
/5

Tool changer P6411 transfers 8 pneumatic channels to the tool attachment and has separate
inlets for Open TC and Close TC. To be used together with tool attachment P6417 or P6474.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

1SO9409-1-125-6-M10

IP classification IP 54
Maximum tool Fz (static) +2 500 N
load Mx/My (dynamic) +2 000 Nm

Mz (dynamic) +1 250 Nm
Weight and centre of gravity (2)
P6411 6.0 kg / 50 mm
P6411 and P6417 8.6 kg /63 mm
P6411 and P6474 9.5 kg /68 mm

Air channels Pneumatic diagram
User channels, robot side
Dedicated channels, G 1/8”

Air quality

See section 2.1.9

8 x G ¥42" (1 600 I/min, max 10 bar)
Open TC marked Open, 6-10 bar

Close TC marked Close, 6-10 bar

Oil-clean and waterless filtered air, with max
25um particle content

MO0634-1 version 3.3




2.1.3 Tool Attachment TA250-8. Article no: P6417

D160 A
! [
R 0>
= | [D
Ql
D)
ir— /Z>7
7
= 23 ol =2
2 35 SIESY
A-A

Tool attachment P6417 transfers 8 pneumatic channels to the tool. To be used together with tool
changer P6411.

Technical data

Working temperature +10°C - +50°C
Bolt pattern 1ISO9409-1-125-6-M10
Weight 2.7 kg
Maximum tool load Fz (static) +2 500 N
(M10-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm
Maximum tool load Fz (static) +2 500 N
(M8-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +750 Nm
Air channels Connection, tool side 8XG Wy
C NOTE! Tools can be mounted to the tool attachment using six M10-screws,
I alternatively the tool attachment can be mounted to the tool using six M8-screws.

10 M0634-1 version 3.3



2.1.4 Square tool attachment TA250-8. Article no: P6474

&
\Q
S
% 7 zxf
| ¥ C 1
A TS
\“‘ :):D
|
-/
D
f 1y
i i
o 0|9
o —| ©
A
_ 102 L 102 N 45

A-A

Square attachment P6474 transfers 8 pneumatic channels to the tool and gives together with
option P6472 a stable tool stand for easy tool changing. To be used together with P6411.

Technical data

Working temperature +10°C - +50°C
Bolt pattern ISO9409-1-125-6-M10
Weight 3.6 kg
Maximum tool load Fz (static) +2 500 N
(M10-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm
Maximum tool load Fz (static) +2 500 N
(M8-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +750 Nm
Air channels Connection, tool side 8xGWy
o NOTE!
Tools can be mounted to the tool attachment using six M10-screws, alternatively
I the tool attachment can be mounted to the tool using six M8-screws.

MO0634-1 version 3.3 11



2.1.5 Tool changer TC250-8E. Article: P6412

D10 méb

!
;

s
TO_ 07

Tool changer P6412 transfers 8 pneumatic channels and 19 electrical signals to the tool
attachment and has separate inlets for Open TC and Close TC. To be used together with tool

attachment P6418, P6473 or P6431.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

1SO9409-1-125-6-M10

IP classification IP 54
Maximum tool load Fz (static) +2 500 N
Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm
Weight and centre of gravity (2)
P6412 6.1 kg / 50 mm
P6412 with P6418 8.8 kg /63 mm
P6412 with P6431 8.8 kg /63 mm
P6414 with P6473 9.7 kg / 69 mm

Air channels Pneumatic diagram
User channels, robot side
Dedicated channels, G 1/8”

See section 2.1.9

8 x G ¥42" (1 600 I/min, max 10 bar)
Open TC marked Open, 6-10 bar

Close TC marked Close, 6-10 bar

Air quality Oil-clean and waterless filtered air, with max
25um particle content
Electrical signals Circuit diagram E0196-001 (section 2.1.10)
Total signals 20 x (2A, 60V) + PE

Dedicated signals
Connection, robot side

24V, OV, TC Coupled, TC Uncoupled
Souriau 23P (UT001823PH)

Connection kits P8002 (connector) Souriau 23S (straight)
(optional) P8129-50 (cable kit) Souriau 23S, 5-meter cable, open end
12 MO0634-1 version 3.3



2.1.6 Tool Attachment TA250-8E. Article no: P6418

(2x)

10 H7

- -

MI0 (6x]

?8,6 (6x)
D15 (6x)

27

-
N

| 23
| 35

— -—

Tool attachment P6418 transfers 8 pneumatic channels and 18 electrical signals to the tool. To
be used together with tool changer P6412.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

1ISO9409-1-125-6-M10

Weight 2.7 kg
Maximum tool load Fz (static) +2 500 N
(M10-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm
Maximum tool load Fz (static) +2 500 N
(M8-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +750 Nm
Air channels Connection, tool side 8xX GV
Electrical signals Circuit diagram E0196-002 (section 2.1.11)

Total number of signals
Dedicated signals
Connection, tool side

18 x (2A, 30V) + PE
24V, 0V, TC Coupled
Compact Souriau 19S (UTOW01419SH)

Connection kits

P8007 (connector)

Souriau 19P (straight)

(optional) P8105-20 (cable kit) Souriau 19P, 2-meter cable, open end
O NOTE! Tools can be mounted to the tool attachment using six M10-screws,
I alternatively the tool attachment can be mounted to the tool using six M8-screws.

MO0634-1 version 3.3

13



2.1.7 Tool Attachment TA250-8E. Article no: P6431

<]

]

N

T

=

S
3 3
o w0
S =
S S

m]_Z‘z

3 23

o |, 3 _|

=

Tool attachment P6431 transfers 8 pneumatic channels and 18 electrical signals to the tool. To
be used together with tool changer P6412.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

1SO9409-1-125-6-M10

Weight 2.8 kg

Maximum tool load Fz (static) +2 500 N

(M10-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm

Maximum tool load Fz (static) +2 500 N

(M8-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +750 Nm

Air channels Connection, tool side 8xXG Vs

Electrical signals Circuit diagram E0196-009 (section 2.1.12)
Total number of signals 18 + PE

Dedicated signals
Connection, tool side

24V, OV, TC Coupled
1-meter cable (0.5 mm3), open end

&) NOTE! Tools can be mounted to the tool attachment using six M10-screws,
I alternatively the tool attachment can be mounted to the tool using six M8-screws.

14

MO0634-1 version 3.3



2.1.8 Square tool attachment TA250-8E. Article no: P6473

A

Square Tool Attachment P6473 transfers 8 pneumatic channels and 18 electrical signals to the
tool and gives together with option P0423 a stable tool stand for easy tool changing. To be used
together with tool changer P6412.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

1ISO9409-1-125-6-M10

Weight 3.7 kg

Maximum tool load Fz (static) +2 500 N

(M10-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +1 250 Nm

Maximum tool load Fz (static) +2 500 N

(M8-screws) Mx/My (dynamic) +2 000 Nm
Mz (dynamic) +750 Nm

Air channels Connection, tool side 8xG W

Electrical signals Circuit diagram E0196-009 (section 2.1.12)
Total number of signals 18 + PE

Dedicated signals
Connection, tool side

24V, OV, TC Coupled
1-meter cable (0.5 mm3), open end

Q@ NOTE! Tools can be mounted to the tool attachment using six M10-screws,
I alternatively the tool attachment can be mounted to the tool using six M8-screws.

MO0634-1 version 3.3

15



2.1.9 Pneumatic diagram for TC250

Tool Changer //

Tool attachment_—"]

-

1{air-1 te 10 bar)
2 (air-1 to 10 bar)
3{air-1to 10 bar)
4 {air-1to 10 bar)
5 {air-1 to 10 bar)
6 (air-1to 10 bar)
7 {air -1 1o 10 bar)
8 (air -1 to 10 bar)
CLOSE (air & to 10 bar)
OPEN (air 6 to 10 bar)

8 (air-1to 10 bar)
7 (air-1to 10 bar)
& (air-1 to 10 bar)
5{air-1to 10 bar)
4 {air-1to 10 bar)
3 {air-1 to 10 bar)
2 (air-1to 10 bar)
1{air-1 to 10 bar)

16

MO0634-1 version 3.3



E0196-001 for P6412

ircuit diagram

2.1.10C

17

o _ ¥ _ > _ 2 _ !
A —‘Ov 10| g (100-96103) 321v9d ev s30NpoJdd \\ aanoddavy | awa | NOILdINOS3a [ Azw [anoz . VNJo-v_‘No,M
Webeip I 0} PIIBULGS
s Aoy (sweu U JuaWNoog Jewuo W _ ¥2-10-9002 _ pabueyd UoRBULOD pue aweyBuIMeI] MON _ g _ -
R z s e SO0Y1203
Apwiey soedssaip 0} > mw om Olr Q.VOlvFNOW
S N g T~ wesbeip Jnou 0l porBULGD
38-05¢ OL Jebuey) 0o oc-iis00e .
[} I—
vonduoseq 4 peubmeg
200-96103
NU1D 0 PARAULOD
HdEZ8L00LN NoLnos
3 lod ¢£Z
7| €280
= zzso
X (12S0) @37dNOONN OL
B — ™| (0250) a31dN0O OL
6150  Wmm—m) A= 6180
0C 0z
8180 ._mlu B = 8180
b " =
i 9180 7T S
(51.50) HLYY3 - Kb 3 (5150) HLYV3
() #1890 - ST = MW wa
() €180 = 5T o i
() z1so = T - M.W MHMM
() 1180 > -1 5 .
() o1so k T 5 MW Mwwo
() 6S w.
S ) ot 7
- i
9 Qa37dNOONN OL 1 %q
S+ uq
10ST zwwgzo
880 : 5 m 850
- 180 : 3 3 180
h =
$80 - 5 3
S0 = = a S0
(€50) 2@ A0 dO w 3 .| (£50) 00 A0 4O
. (02$0) @31dN0D oL = =
(2s0) 0Q Avz+ dO — = g (280) 0a AvZ+ dO
180 - T v 180
g 0/d0°cY
I ERY FUOEO so/
] Jabueyg 0oL =L ILINGWHOV.LLY TOOL OL ¥OLO3NNOD 378¥0 WYY ¥3ddN OL YOLOINNOO
139MOd JBWoIsN) = 49 (¥39NVHO 100L) £¥
[eubig Jawosn) = SO Zl¥9d
sjeubig-gng Joj panoiddy = (,)
v -
100-9610V ‘MY 10} weibeip 3Ind11)
8 L 9 _ S _ ¥ _ € 2 T

MO0634-1 version 3.3



E0196-002 for P6418

it diagram

Ircul

21.11C

200-9610V "MV 10} weibelp 3IndJiD

» ¥ € 1
(10) 10| V| (co0-96103) m w _\ .V@Q €V | sjonpoud \\ Q3N0HdAY ava NOLLAOS3T 100-96103
(sebed Jo ‘ON) 8bed | “rey (sweus]y) ou Juewnooa 1euLI0- or 22018102 HS619L0MOLN Sem pabueyo Jequinu Led weibeip Nl 0} peIoeuuo:
H PUEHTEIY 38-0G2V L _~ . ¥00-96103
Apwey soedssaip 0} Buipioosoy weubelp 1NdJIY 0} PeIBUUD:
= MHO
0 SNQ / lIslesed nd a Ag parciddy
38-0G¢V.L1 01-10-600C g
uonduoseq 2\‘ Aq paubiseq
UONO3UUO0D JaWOo)SNY)
weiBelp JIn2JID 0) PejosuULo)
. €10-0¥203
weibeip 1InoJIY 0} pejosuULoD _| P S SV S,
. HS6L¥LOMOLN nolnos :
3 lod 61
— W | | d
— A 0z | 0z
£E8D D 51 TR
4480 T _ a D
LSO X5 ya! (—a
(5180) H1¥V3 i3 xUb 516
. () p1SD > m — _ -
() e1so Dy 71 ¢
() eLso W] T e
() 180 S ZT =z
| () oLso N— T —7 G
| |
() 680 b _ o _ oT
Jayjaboj pajoauuod aq Zwwgo
PInoys ¢ pue g'iu 3|qed | |
: | |
Jebueyg |0o) = D1 8S0 B _ = _ &4
19MOd J8Wolsn) = 49 150 bl :
- |leubig Jswoisn) = SO 9 | 8 | 8
sjeuBis-sng 40} perouddy = (,) 980 <l z 2§
S8O >3 9 2 gx
¥SO g _ 3 _ =4
(€82) 0a A0 O 51 - —¢
g (02s2) @31dN02 OL x _ 3 T C
(zs0) 00 AVZ+ dO mm _ Z _ Al
189 v T —
Twwgo
80740y I£X.

4

¥ | €

SIoNPOUY WaysAS 3000Y ‘UIPPKIOY AROpsS S
MO0634-1 version 3.3

Ayouyno Ssaxdxa Jnoule S U 0F NSOPSP JO 3SN UORINPOdaY
B3, PAUDID UORDIOJA A U PUD JUNIDOP S} U SYUOH a3 I

18



2.1.12 Circuit diagram E0196-009 for P6431 and P6473

¢/v9d PUD |£%9d
&/

[ ¥ e [ 2 | 1
A FOV FO m AOOOnwm 103 v m F MU.V@& m< $30npouJd \\ A3AONddY 3iva NOLLJI¥OS3a ‘A3¥ | 3NOZ 100-961L03
(seBed jo on) 9Bed | Aoy (eweusy) ‘ouuswnoog|  jewsog \ wnw | szzozioz pappe ££59d g | zs |——usdepwmardapapeutog)
: - ) #00-96103
i e Pt 38-0GZ¢ VL1 uwei0olp Y124 o) poveu
=8_§E=.oo.mq...m:_o__w_£ a 3 Aq panoiddy
juswiyoeny |00 | 61-G0-110C o
Uil
a Aq peubiseq
UONO3UUOI JSWOISN)
wesbeip ynaui) 0} pejsuLoD
wesbelp Y9l 0} PAIIBULOD _‘ .....
3
- L AY _ {
- N8/ d _ m - 0C w
- 51/ 1 Ly
” N8/A9 [ | D
X5/ I =)
. HisvE Ne/3k 1 [ =
i IA/HM 1 D
: N9/ Ng N [ ¥
” NS/ HM [ D
L ) ne/ay 0 D
Md/AD T T _ [
(|
- bt - (
) = [ L2
) 58 L &
) [«}] [ 2 m”
) na Lt [ 4]
% 1l 1 Ve
. il L1 .2
S I | SJ
— 193ab0) pajoauuod aq 0aA0dd ETY T [ ¥)
PINoUS NO PUE Ng 21989 (e10N 898) @31dN0OD OL ) ) — . nm
310N (e10N 228) Oa AvZ+ n_w NG — 7
G 7 T
pus 8aJ4 -
. Zwwgo _I |
28.01 219eD | 1£X

600-96103 "weibelp yndi1)

19

MO0634-1 version 3.3



2.2 Options for tool changer

2.2.1 Robot adaptation kits

Robot adaptation kits are required for mounting on robot flanges using alternative bolt patterns
and consist of an adaptation plate including mounting screws. Robot adaptation kits for various
robot models are available from RSP.

Example of adaptation plate with mounting screws

2.2.2 Tool Identification

Jumpers on signals at the tool attachment can be used to give information about which tool
attachment that is docked in the tool changer.

2.2.3 Limitation of Robot movements

There can be some limitations on the movement of axis 5 for some robot models. Contact Robot
System Products for more information.

20 M0634-1 version 3.3



2.2.4 Tool stand kit. Article no: P6472

246

REE

245

®10,5 (4x)

| |
s M @INC

—

This tool stand kit gives, mounted on a stand, in combination with square tool attachments
P6474 or P6473 a robust tool stand for easy tool changing.

Technical data

Weight 1.2 kg

Maximum load 250 kg

MO0634-1 version 3.3 21



3 SPARE PARTS

3.1 Part list for tool changer P6411 and P6412

Item | Description Part number Wear part Pcs
1 Fastening screws M10x80 21212519-507 6

2 Air sealings 63550006-462 X 8

3 Spring loaded signal pins (P6412 only) 10042 X 20
4 O-ring 11464 X 1

22 M0634-1 version 3.3






r| P robot system
Products



